10. BESEROBEI(T) - KFHAODHR

HT (7T « R FRE184E | EER194E | ERR204E | EEK214E | 224

o H 124,933 125,879 127,474 128,379 129,340
EN ir1 T H 6,062 6,214 6,208 6,175 6,176
2 T H 4,428 4,436 4,883 4,923 4,953

T A 1,292 1,310 1,327 1,323 1,315

fif ir1r T H 1,440 1,413 1,463 1,456 1,443
2 T H 1,550 1,567 2,091 2,331 2,337

xR if1r T H 1,856 1,839 1,900 1,922 2,195
2 T H 2,361 2,453 2,485 2,474 2,540

3 T H 2,494 2,479 2,437 2,495 2,458

4 T H 423 536 538 549 536

5 T H 1,166 1,159 1,025 1,007 1,039

gz ir1r T H 1,608 1,651 1,640 1,650 1,679
2 T H 2,730 2,889 2,865 2,896 2,859

3 T H 995 1,020 1,001 1,026 1,065

B Pt BT1 T H 2,950 2,938 2,920 2,984 2,973
2 T H 2,680 2,701 2,695 2,685 2,634

3 T H 474 464 472 457 459

4 T H 4,660 4,668 4,715 4,719 4,711

5 T H 743 802 796 820 827

I w1 T H 824 844 849 829 837
2 T H 1,789 1,906 1,933 1,942 1,889

3 T H 1,432 1,422 1,372 1,418 1,379

4 T H 1,192 1,272 1,298 1,307 1,328

5 T H 1,761 1,748 1,722 1,793 1,893

6 T H 2,102 2,109 2,164 2,115 2,126

7 T H 1,489 1,485 1,485 1,488 1,478

X F w W 333 340 344 352 333
X F B W 0 0 0 0 0
AN S fi] 71 70 73 83 75
K ¥ = 9 8 8 7 8
X F | 21 24 25 25 20
H i 73 610 588 652 630 607
o M1 T H 961 970 1,070 1,081 1,052
2 T H 985 1,000 1,007 1,014 1,003

3 T H 1,140 1,122 1,095 1,128 1,095

mor M1 T H 1,150 1,127 1,093 1,232 1,229
2 1T H 712 723 764 737 740




iy () - K5 PRISHE | FEI9F | CFR20% | P21 | PR224

= 1 T H 3,600 3,560 3,659 3,651 3,658

2 T H 3,655 3,749 3,747 3,693 3,709

3 T H 3,580 3,514 3,464 3,505 3,537

4 T H 1,288 1,306 1,351 1,368 1,420

5 T H 2,080 2,022 2,023 2,086 2,124

s K1 T H 545 558 696 700 712

2 T B 1,420 1,439 1,448 1,436 1,449

3 T H 2,890 2,854 2,839 2,694 2,741

fi] 1 T H 1,825 1,735 1,729 1,706 1,729

2 T B 872 851 903 918 924

3 T B 3,745 3,742 3,770 3,849 3,858

B E=H1 T B 1,845 1,868 1,905 1,924 1,955

2 T B 1,421 1,517 1,545 1,539 1,617

3 T H 1,557 1,522 1,494 1,520 1,485

4 T H 1,519 1,495 1,506 1,499 1,606

5 T H 982 983 948 906 966

6 1T H 1,867 1,851 1,842 1,857 1,888

7 T H 3,911 3,935 3,914 3,936 3,985

8 T H 1,674 1,727 1,768 1,794 1,766

H# ®¥E H1 T H 112 116 117 107 105

1t F1 T H 684 681 701 723 741

2 T B 1,325 1,288 1,277 1,297 1,238

F1 T H 750 937 943 951 931

2 T B 1,088 1,090 1,094 1,118 1,122

i w1 T A 468 458 470 464 461

2 T H 351 348 350 346 354

3 T H 817 814 812 830 823

4 T H 1,174 1,158 1,181 1,213 1,237

X F k& IF 57 56 60 58 57

MEFrr1 T H 3,772 3,771 3,819 3,774 3,888

2 T B 1,554 1,519 1,557 1,550 1,553

3 T H 1,651 1,673 1,679 1,664 1,677

4 T H 1,541 1,594 1,647 1,650 1,665

x T oo®m 7 16 17 17 18 18

= 1 T H 1,193 1,205 1,229 1,394 1,405

2 T B 2,591 2,550 2,593 2,581 2,550

3 T H 2,875 2,819 2,775 2,839 2,847

4 T H 1,911 1,949 1,937 1,936 2,068

X 7 H = 0 0 0 0 0

H 51 T H 1,156 1,151 1,167 1,166 1,153

2 T B 1,384 1,452 1,429 1,418 1,424

X F KN M R 1,384 1,384 1,338 1,317 1,307

AN S N N 3 B N 310 324 316 311 296
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